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& QUARTERLY EXAMINATION - 2024

10 - stq W ATHS OO

Time : 3.00 Hrs, | MARKS : 100
PART - A

I Answer all the questlons ; 14X 1 =14

Choose the correct answer from the given four alternatlves
1. - If there are 1024 relations from a set A = {1 2,3,4,5} to a set B, then the -
number of elements INBIS wveeeenen. Astedens i & O B,
DA 3 Liiwghoh) 2 1 a4 b NGE |
2.° Ifthe ordered pairs (a, -1) and (5, b) belong to {(X,Y) / y = 2X + 3}: then
the values of a’ and b’ ‘are ‘ . N
a) (-13, 2) b)-(2, 13) 0 (R g ‘d)‘(2 13)
3 The least number that |s lelSlble by all the numbers from 1 to 10 (both

mcluswe) is. o : ‘ X y
a) 2025 b) 5220 © ‘. 0y 5025 q)‘2520~ =
4.“Ift lsthen‘htermofanAP then tzn-t s gl 55
~a)nd “py2nd 0w . ead s B oed)i3nd:
5. The sequence i1 J_ 5\/— sJ— 25J_,.‘-.,....".-..represents
‘a) an A.P. only . - b).aG.P only e

) nelther A.P nor G.P d) both A.P and G.P

If (x - 6) is the HCF of x2 - 2x 24 and x? - kx 6 then the value of k lS

P

6! |
a) 3 b) 5 | 96 ST d) 8 |

7. Which of the following should be added to make X + 64 a perfect square?

'8 A quadratic equation'whose one zero Is 5 end the sum of the zeroes isQis
given § th? equat‘onz -5x+5=0 c)x2-25=0 d) x? - 5. =0
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10.
11.

12.

13.

14.

CII

15.
16.

17.
18.
19,
20.
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The perimeters of two similar trlangles A ABC and A PQR are 36¢C
respectively. If PQ = 10 cm, the length of AB IS vovvviressivrnaens .

2 ‘ 2 . C
a) 6; cm b) M cm c) 66 3 cm ©d) 15_ cm

In a AABC , AD is the bisector of «BAC. If AB = 8cm, BD = 6¢m and
DC =-3cm. The length of the side AC IS v, K

m and 24cm

a) 6 cm b) 4cm c) 3 cm - d)yscm
The straight line given by the equation x = 11 s
a) Parallel to x axis . L8 b) parallel to y axls

c) passing through the origin d) passing through the point (0, 11)
If (5,7), (3 p) and (6, 6) are collinear then the value of p is

a) 3 o b). 6 e)9 .od)y 12

(2,1) is the pomt of mtersectlon of two lines N
"a)x-y-3=0;3x-y-7=0" “Mx+y—33X+Y 4

)3 +y=3;x+ty=7 _d)x+ 3y - 3——'0,.X y-7=0

& 5 e (¢
If 5x = secg and e tan @, then x?-;?hls \equal to:

a) 25 S N e A
‘ \ ' PART-B X S
Ansv;ler any 10 ‘question's . | P
Question No 28 is compulsory. N : o8 10 X 2 = 20
A relation R is gtven by the set {(x,y) / y X’ +‘j3, X e‘{0,1,2,3,4,‘5}}

Determlne its domain and range.

Let fbe a functlon from R to R daned by f(x). = 3x 5. innd the values of a

and b given that (a, 4) and (1, b) belong to f.
If f(x). = x? - 1, g(x) = X - 2 find a, gof_(a) =

_Solve : 5x= 4 (mod 6)

In a G.P. 729, 243, B, siieswnine find t,. ; _
IFL 4+ 2+ 3 4 coivieennnnnnnnnnen s sTias + k = 325 then find
13‘+ 23 + 33 T+ ciane PETERY + k3 . * QL 10 &mﬂﬁl‘b (EM) PAGE - 2
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21.

22.

23.

24.

- 25,
26.
27.

III
29.
30.
31.
32,

33,

34.

35.

Find the excluded value of the rational expression -
. ; 1’
- Simplify :

Determine the nature of the roots of the quadratic equation
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3 g -5(+6'

: + D 4 '
X—y y—x

15x2 + 11x + 2 = 0.
If A ABC is similar to A DEF such that BC-= 3cm, EF = 4cm and area of

A ABC = 54cm?. Find.the are of A DEF

Find the slope of a line Jomlng the pomts (= 6 1) and (-3, 2).
Show that the straight lines x - 2y + 3.= 0 6Xx + 3y + 8 =0 are perpendncular

l1+siné
1—siné
Find the equatlon of stralght Ilne whose slo e’is -4 and
ot (2 2) | , | p \ | passmg through the
- pART-C L7

An'swerany 10 question. Rk

-Question No. 42 is. compulsory. - 7 g TR b e 10 X5 =

Let A = {er/x<2},B {xeN/1<x<4}andC {3 5}venfythat

'AX(BmC)—(AXB) A (AXC)

Let f:4 ——)Bbe a function defined by f(X)———l where A {2, 4 6,10,12%,

B = {O 1,2,4, 5 9} Represent fby i)a set of ordered palrs _u) a table

i) an arrow diagram Cciv)yagraph. ot g

If f(x) = %%, °b(x) = 3X and h(x) =x - 2, prove that (fog) oh = fo(foh)

The 13t term of a n A. P IS 3 and the sum of Frst 13 terms is 234. Find the
common difference and the sum of Frst 21 terms
f the series 3 + 33 + 333 + ........... to X terms.

Find the sum of n terms o
ten and twenty rupee currencies whose total

heir numbers its
ch sort.

There are 12 pieces of five,
value is Rs. 105. When first 2 sorts -are lnterchanged in t
s. 20. Find the number of currencues in ea

value will be lncreased by R
- 28x3 4 4xt + 42x + 9 by

Find the square root of t_he polynomlal 37x’2
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36.

37.
38.

30.
. 40.

41.
42,

Iv

43,

' 447'. ‘

'1 No of plpes (X) L

Tlme,_,taken (Y). (-im, mts)

R I o T e e S S Iy I T i
.. (3. FInd the quadrat,.

The roots of the equitation x? + 6x - 4 = 0 are o, [}

€quation whose roots are o? and 3’

State and prove Thales theorem.
Find the area of the quadrilateral formed by the points

(8, 6), (5, 11), (-5, 12) and (-4, 3).
Find the equation of a straight line passing through (1, 4) and has intercept,

“which are in the ratio 2 : 5.

Find the equatnon of the perpendlcular bisector of the line joining the pointg

A(-4, 2) and'B’ (6, -4). :
If cot@+'tan'9 % 5 and secd~-cosd =y then prove that () =1.
23cm,

Swathi has 15 lce ‘cubes of different sizes 9cm, 10cm), 11CM, coveererees
How miuch volume of ice cubes can be used to prepare some fruit juice with

these lce cubes? ;i PSR ;
' 'PART-D‘ ‘()Y '
N, - 2X8=16

Answer all the questions.
a) Construct a triangle similar to a given trlangle ABC with its snédes equal to

6
= of the correSpondmg sides of the tnangle ABC (scale factor - > 1) (OR)
b) Construct a triangle APQR such that QR = 5cm, /P = 300 and the altltude

from P to QR is of length 4. 2cm
a) A bus is travelhng at a umform speed of SOkm/hr Draw the dlstance

tlme graph and hence find.

l) the constant of vanatlon

H) how for wnH lt travel in 90 mmutes'?
m) the tlme requ:red to cover a dlstance of 300km from the graph (OR)

b) The followmg table shows the data about the number of plpes and the

tlme taken to fill the same tank.
2. '3 .6 g

45 .30 .15 10

Draw the ‘graph’for the above data and hence.

) Find the time taken to f"ll the tank when five pipes are used.
i) Flnd the, number of plpes when the timeis 9 mlnutes
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